3. Work out 578 x 4

4. Work out 1548 + 6
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10. Write these decimals in order of size, starting with the smallest:
23 223 2.303 2.203

Anower: 2203 2l 2R

11. Fill in the boxes below. \

(a) 4s+-soo
(®) 360410 =36 x

© 24+(-s)-6
o0 ke Tl
12. A pineapple costs £2,.47
James has a £10 note.
He buys as many pineapples as he can with his £10 note.

(a) How many pineapples does James buy?

'.9_ e “}-4 01'8.,\
ol G

Answer $ o 2

(b) How much change should James receive from his £10 note?
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15. (a) The number machine below changes numbers according to the rule
subtract 3 and then multiply by 2

example

(ii) There is one number where the output is the same as the input.
‘What is the number? i
e 7] - *
-G 2 G

Answer:
<2 H5 N .
(b) A different number machine produces the input and output table below.

input output
2 6
4 7
8 9
12 11

B I B

What is the rule for this number machine?

£ }’é @,%%
o ; VD
S
: 6
o — | = “
. 3 ‘oo
1 .
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Jasper decides to make 36 fairy cakes. :.)_7 X 3
(b) Work out the amount of each ingredient which Jasper needs.

The chocolate icing for 24 cakes uses 60 grams of cocoa powder. 12 Uses

Jasper decides to put chocolate icing on only half of his 36 fairy cakes. = £ :

(¢) How much cocoa powder does he usc? Q

3(q6) = 45

4. ¢
Answer: "’LJ ........................ grams

l l 281008
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22. (a) What mass is shown on the scale below? T PN o

1o
0 400
.m’
in grams
oy =7 | o
() Oumsdebebw.hwmmwwmm«fzw ¢
& (2008) =200 2000 oy
ettt
0 100 200
mass, in grams

23. In each part below, circle the most sensible unit to measure
(a) the mass of a man

s Ganis

(b) the volume of water in a bath

millilitres @ inches

24, Kate originally had 1 litre of water in a jug.

She poured out some water and the diagram
shows how much water is left in the jug.

How much water has Kate poured out from the jug?
[O00 ~ 4Q0 = GOQ

S HaionSH

x 281008
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ﬁ: ﬁwmm;lml&mm.m-““

II--I--I-E‘EII R
Y o -II

(a) What is the perimeter of shape E?

Answer: ’1‘ ..................... ..._.... om

) @O Which;nhmwiﬂﬁtmgﬂhcrmfomnnum?

i) T

(ii) What is the area of the square formed?

Answer: ,‘3 ................................... cm?

(c) Which 2 shapes will fit together to form a rectangle?
5

k8

O 281008
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28. Kate asked some people to tell her theit favourite character in the
Here is a pie chart showing ber results:

Dorothy

(a) Whup«cmueofﬂnepeoplesbeukedlihedhmbuﬂ

Answer: 25
() Whntfﬂcﬁonofthepecplesheawdﬁkﬂdthn“anbuﬂ
gy 5%
x ¥ J.
e &
A
Answer: 8 .....

24peoplenidthatﬂseyliked00mthybest.

(c) How many more people liked Dorothy than the Scarecrow?
1

; Feprestris 24 (DovoH\L‘>

=) qJT *‘?pr Saerds 12
e bepresents ¢ (Scen<

3
Q 281008 14

cro L-')
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9 31. Robert has 70 identical cube bricks. T v
' He uses some of his bricks to make this cuboid: &

J}‘lpuxl s S i 132 bne R L

?.
Ftomhinemainingbﬁcks.hemsmmemmkad\ewwmbem
How many bricks does he use to make the cube?

% /__:?"1 |

3
Ry
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33. lnlmeyoprooph.nmuk. O e
Of the fernales, 11 were born in the UK. A
Altogether, 28 people were born in the UK. [ i

mdumuuwmuuw.
Complete the table.

34. lnume.dnAMpeoplemeuLChm.MndSm. A \ i
Use the following information to work out the order in which they finished: k.
(1) » David was faster than AL e

o Chris was faster than Sam.
(@) * Al finished 2 places after Chris.

OOSnmwasnotmésiplwe
LLL SiiA~S
oo NP7

O 281008 18
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36. When Helen hangs out her washing on the line, she
always uses 3 pegs for a shirt and 2 pegs for a jumper-

73\ i8¢ o *:% O-My.uhhnptmd4~-~*ﬁ-

How many pegs does she use?
S(3)+ 4(2
=18 (Shudta) :2)4-;3 :)32
IS 9 Ay (A)

M-w-.32

(b) On Wednesday, Helen hangs 5 shirts and some jumpers on the line.
She uses 21 pegs altogether.
How many jumpers does Helen hang on the line?

W ’ 5( j).f 2‘1:2’
1 !C{”Z g o -
ion S50 +)> x=3

on °0 43
e (c) On Friday, Helen uses 65 pegs. 4
She bangs an equal number of shirts and jumpers on the line. (% X pe ¥
How many shirts does she hang on the washing line on Friday? S h‘\r'+/ _J“ ;
b A aF Brginnine ek s G5
N9 bxging'h 5x=GQ5
i R

O 281008
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39. A photograph, which measures 12 centimetres
is mounted on a piece of red card so that there
3 centimetres all the way round the photograph.

What area of red card is showing?
(5t12) - q(g)
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41 On planet Dichotomy, Mnmmmm
Honestians always tell the truth.
Liarists always lic.

The first 2 people you meet are called Paul and Simon. e Y
Paul says, “We are both larists” CoM+ & bote M g,
PQ:“’ S "E"‘(" 1.*5 mh \

i Wnkm'ﬂﬁuuﬁmm‘ .50 Fx“ ‘3 & ‘
| ONe. ke 13 “'w‘\:‘tn
| SO iwron e

Tors Yoo OWRFLALS
V. R*‘q h"m‘

Answer: Puillias LACLES SRR
' simoniss DRORIHROS
qSI T4 95 7\

(arisiS  ons iyt
C“Hl)“w I = S0 st
1S < \,_!‘\(’_‘. SO f\€5
DRUNE  dradt both . O

( x\ & Y : '*:‘ - . -~ < m m Aisi]

VR

(Total: 100 marks)
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